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[E—num2expr

(Converts an expression with binary operators to its functional representation]

N2E (Ev ):: for k& [1 ..cols (NZE)]

ans := concat ["Clear (", N2E

okt (@rd)) "] str2num(ans)

#NZ2E# (T, , b, ):= str2num(concat ("equrep(", T., ",anb,", b_, ") ")]

#NZE# (X, , a., b, ):= t"::strrep(strrep(numZStr(Xu),"{","Cj,'ﬁ'y ")")
t"::strrep(strrep(t", "(","#NZE#("),aU, "M
for N. € [1..EquRepN]
if num2str(t.)=num2str(t.:= #N2E# (num2str(t.), b.))
break
else
continue

str2num(strrep(num25tr(t.. ), "#N2E# (", " ("))
ans. = equrep (E,, agb, #Xor# (a, b))

ans., a \b, #And# (a, b))

., aVb, #0r# (a, b))

a a>b,b<a)
ans.,a>b,b<a)

a , a=b, #Equals# (a, b))

., a+b, #NotEquals# (a, b))

, a <b, #LessThan# (a, b))
ans. :=— equrep (ans_, , a <b, #LessOrEquals# (a, b))

ans. :— equrep
ans. := equrep ( ans.

ans._. := equrep (ans..,

ans. := equrep (ans..

ans. := equrep

(
(
(
(
ans. := equrep (
(
(ans,
(

ans. := equrep [ ans..

ans. = str2num[strrep (numZStr (ans.), "-", "+#neg#*-.])
for k. €[1..3]
ans._ := #N2E# [num2str (ans. ), N2E

concat["#", N2E , "#(a,b)"]]

1k.'

ans. := #N2E# (ans_., "/", "#Times# (a, #Inv# (b) ")

for k. € [1 ..cols (N2E)]
str2num[concat ["#" , N2E

2k.

ok ! #(a,b):", N2E2k__

[ #Inv# (b):= Pow (b, #neg#) #neg# .= —1 #N2E# (b_):=b,_ ]

ans. :=num2str (num2str ( ans. ])

. "(a,b)"]]

str2num [numZStr [strrep (num2str (ans” ), "AN2EH", " ..)]]

(Matrix of binary operators]

” ” ” ” maAmn " " ” ” m—mn ” ” ” ” ” ” ” ”
v * & = " < < 2

N2E :=

"Plus" "Times" "Pow" "And" "Or" "Equals" "NotEquals" "LessThan" "LessOrEquals" "Xor"

(Replacing deep ]

EquRepN:=20
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NZ2E

equrep a.b, times (a, b)|= = Times (u, Pow (Times (v, w), —1))

! V.w

[El—numl2expr examples

Assign binary operators

for k€ [1..cols(N2E)]

ans = str2num[concat [NZE

g "(a/P)i(@", N2E o, "b) ]]

1 . .
El ;:NZE[mllemes [1, Pow (Plus (x, Times (7, v)), _1]]
Fl—— 1t
X+7-y
29 o NoE (a AP)V(c A(=d))+cos(x) Plus(Or(And(a,b),And(c,_\d)],cos(x)]
- ((AAB)V(CA(-D)))=E Equals (Or (And (&, B), And (C, - D)), E)
o — (aAP)V(c A-d)+cos(x)
((AAB)V(CA-D))=E
bu_(v+w)
E3 . N2E ~34cos(—a)+ = Times [Plus [1, Times [Pow(b, Plus [Plus (v, w), Times (-1, u
A.X+B.Y
E3=1—|—bv+w_u-(—3—|—cos(a))
bv+w_u.(A.X+B.Y)

Unassign binary operators

for k€ [1 ..cols (NZE)]
ans :— concat["Clear (", N2E _ "(a,b)) "] str2num (ans)

El = Times [1, Pow(Plus (x, Times (7, v)), _1]]

o Plus (Or(And (a, b), And (c, - d)), COS(X))

Equals (Or(And (A4, B), And (C, - D)), E)

E3 = Times [Plus [1, Times [Pow(b, Plus (Plus (v, w), Times (-1, u))], Plus (Times (3, —1), cos(a])]],
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